31-DIN 7708,

=M
oz
3188 =T 8

L1

R

L3

DIN 6885-1
B3k
y
i
LY -
l
1
Zs 29

FEWHS = D1 D2 D3 L1 L3 B3 T Y #ss I8
K0162.21080X10 EENEER-EIH 80 10H7 24 16 28 - - 218 x M6 x 40
K0162.21080X12 2AoleE &X 80 12H7 24 16 28 - - 218 x M6 x 40
K0162.21100X10 2oleE &2 100 10H7 26 17 33 - - 218 x M6 x 40
K0162.21100X12 2 0|eE &X 100 12H7 26 17 33 - - 218 x M6 x 40
K0162.21125X12 2 oleE &X 125 12H7 31 18 335 - - 221 x M8 x 50

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
| - — = =] = = —
U20|F22EXJ SHEE LR IS, 0H AES g =8t
EZS 29
FEHS 1=K D1 D2 D3 L1 L3 B3 T S R ]

K0162.21125X14 EREEEPH 125 14H7 31 18 335 - - 221 x M8 x 50
K0162.21160X14 2 0|EE &2 160 14H7 40 20 39 - - 226 x M10 x 80
K0162.21160X16 2 0|eE &X 160 16H7 40 20 39 - - 226 x M10 x 80
K0162.21200X18 2 oleE &X 200 18H7 42 24 45 - - 226 x M10 x 80
K0162.21200X20 27oleE &2 200 20H7 42 24 45 - - 226 x M10 x 80
K0162.21250X22 2 0|gE &X 250 22H7 48 28 51 - - 228 x M12 x 90
K0162.21250X26 2 oleE &X 250 26H7 48 28 51 - - 228 x M12 x 90
K0162.31080X10 27olEE &R 80 10H7 24 16 28 3 114 218 x M6 x 40
K0162.31080X12 270lEE &R U 80 12H7 24 16 28 4 138 218 x M6 x 40
K0162.31100X10 ZAolgE &X 100  10H7 26 17 33 3 114 218 x M6 x 40
K0162.31100X12 27olEE &2 100 12H7 26 17 33 4 138 218 x M6 x 40
K0162.31125X12 ZAolgE & 125 12H7 31 18 335 4 138 221 x M8 x 50
K0162.31125X14 27oElE &% 125 14H7 31 18 335 5 16,3 221 x M8 x 50
K0162.31160X14 27olEE &2 160 14H7 40 20 39 5 16,3 226 x M10 x 80
K0162.31160X16 ZAolgE & 160 16H7 40 20 39 5 18,3 226 x M10 x 80
K0162.31200X18 ZAolgE &X 200 18H7 42 24 45 6 20,8 226 x M10 x 80
K0162.31200X20 27olEE &2 200 20H7 42 24 45 6 228 226 x M10 x 80
K0162.31250X22 2AolgE & 250 22H7 48 28 51 6 248 228 x M12 x 90
K0162.31250X26 2ZAolgE &X 250 26H7 48 28 51 8 293 228 x M12 x 90

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



